Q2. A plate with 5 cm” has a positive charge of 1 pC which is distributed umformh The electric
field in this case is:
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Q3.As shown the electric flux (¢) through the surface of the sphere is: :
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Q4- The followmg charges -2 yC 10 yC -30 ,uC and 100 ,uC are located 1n51de a non

uniform body. What is the net electric flux through this surface?
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Q5-The electric field between two large parallel plates separated by distance d when one plat

carries a uniform positive surface density ~ and the other carries a uniform negative surface
density is:
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Q6- In the case of a uniformly charged insulating sphere, the electric field has the largest
magnitude: '

C) Outside sphere D) Inside 'sph'ere

A)Charge  B)Area ~ C) Distance | fD) Charge Density
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Q9- The electric field at a point at a distance » from a long charged wire is proportional
to: '
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= An insulating sphere has 20 m radius and cﬁarge of 100 nC distributed uniformly over its

e electric field at a point 2 m away of the center of the sphere is:

volume. th
B) 22.55 C)0.112 D) 11.25
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\s- If the magnitude of the electric field at the point a near the mid of both charge lines is
0.5 1m, the length L equals:
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Q9- A conducting plate of 0.02 m thick is exposed to an external electric field of 1500 V/m.
What is the electric field inside the plate?

A) 75000 B) 30 | C) 0.66




\_.::L—-J‘ “~LA—A.“_)‘—».M \Sa_a.‘l‘_";j‘ __S \‘*—-—‘-“C-L“-—-V‘JD—\L_r- __..\(_: -‘“U\S‘ 2C bumds_)‘mu\s‘_‘n\ -8

Q8- If each positive charge is C and the electric flux throuoh the closed surface S is
zero, the charge of the negative one is:
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Q9- If the charge is distributed umforml; on the wire, the electnc field at the pomt a

equals

- 1 km >

Q—40m_c

A) 3.6 x10° B) 77x10° \[ C) 144x10° ! D) 11.2x10°
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Q7- The electric field inside an insulating charged sphere at a distance » from the center is
proportional to:

A) r B) o C) Ur D) 1/ 7
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Q8- The electric field at a point 30 m far from the middle of a charged wire of 1 km long
currying 40 C equals:

A) 8x10° (B) 24x10° | O)12x10°  D)4x10°
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29- If the charge (1 uC) is located at the cube’s center, the electric flux trough the right
panel (colored n gray) equals:

@ B) 113000 )0 D) 8.85
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Q10- If the charge is distributed uniformly on the wire, the electric field at the point a
equals:

) 15 km—— .
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| A) 4500 B) 9000 C) 18000 D) 36000
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Q8-An insulating sphere has 8 m radius and char
volume, the electric field at a point 2 m away of
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the center of the sphere is:

A2T B) 54 A ( ©)042) D) 0.84
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QY- If the ma

gnitude of the electric field at the point a near the mid of both charge lines is
zero, the distance x equals: ' : -
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A)0.5 B)1 C)0.4 D) 0.28
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Q10- What is the electric field in question 8

if the sphere is conducting and the distance from
the sphere center is 16 m? |

A)27 | B) 54 o /( C) 0.42 i D) 0.84
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y Consider 2 closed triangular5 box as shown in Figure resting within external
])’rjzonta electric field E =4 x 10° N/C. The net electric flux through the entire surface
ho

. equals 10:
ofthe box €4 %0 cm/"
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Q6- A nonconducting sphere of radius 40 ¢ has a total positive charge of 32 nC,
uniformly distributed throughout its volume. The magnitude of the electric field at a point

10 cm from the center of the sphere equals to:

A) 28800 B) 450) C) 1800 D) 112.5
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Q7- The charge linear density of a long filament is 1 uC/m. The electric field at 2 cm

from the center equals to:

A) 45 x10° - B)9x107 w D) 43x10
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Q3. If the electric field at a point P near a very long thin charged rod is 7500 N/C. Given that
the charge per unit length of the rod is 50 nC/m, then the point P is at the distance:
A glall ain & A0S las Jygla g ady Ganad e 80N S eSU Jlaall S 1) 3

Ailis Cuuall) (e 3e8 ALE o34 (i P Ao A die 7500 N/C 6 s 2=56-0C/m
A)7.5cm B) 10.0 cm C) 6.8 cm D) 12.0 cm

Q4. An infinite, conducting plate carries a uniform charge density (o) of 0.20 nC/m”. The

magnitude of the electric field near the plate surface is:
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A) 5.65 B)22.6 C) 452 D) 11.3




QUESTION 4: The value of the integral $E.dA on the surface S; is equal to
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A)3.16 B) 8.7 @ D)-2.3

QUESTION S5: The electric field on the surface of a conductive sphere is E = 70000 N/C, if
the charge on the sphere is Q =20 uC, the radius of the sphere is:

@ B)3.75 C) 6.92 D) 8.45
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7. The following charges: .

Q . 2 uC kfla‘c% e ‘2#C,+10N
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 Q10- What is the electric field in question 8 if the sphere is conducting?

A)OQ | B) 27 C) 6.75 D) 3.375



rical shell of radius 8 cm has a total charge 3nC . The electric field at

0) point 5 cm from the center equal to:
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rod) of length 5 km has a charge per

arged filament (non-conducting :
int 18 cm from the filament center 1S:

C/m , the electric field at a po
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8) A non-conducting circular plane of radius 5 cm has a surface charge density
30nC/cm? , the charge of this plane is equal to:
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a. 30 nC b. 4.70 pC (235 1C d. 150 nC

9) If E=8x10° N/C as shown in Figure.
the electric flux ¢ through the vertical rectangular
surface of dimensions 10cm x 30cm is equal to: i P
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Q7- An infinite, conducting plate carries a uniform charge density of 0.6 nC/m’. The
magnitude of the electric field gear the surface of the plate is:

A)0.6 C)339 D) 0.3
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Q8- If the electric field vanishes at the point a, located between the charge line and a
point charge g, the distance x then equals:

g=1mC®
e | x
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< 1 km >

A)2 B) 1 C) 0.5
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Q4- The electric flux through the closed surface S; equals:

'0" 30pC,""._. lopc ., @p

A)338 B) 3.95 C) 5.65 D) 7.34
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Q6- A charge Q1s dxstrlbutc'd uniformly in an insulating sphere of a radius r. The electric

" field inside the sphere at a distance r/2 from the center equals:

NkQ/MAT) (B)kQ/(ZV)z Q)2kQ/¥ DY4kQ/F
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Q7- Which equation does represent the electric potential difference as a function of the
electric field E, force F, and displacement r?

/(A)—__fﬁ.d?s B) (E .d7 o) [F .d# D) — (F .d7



